ATS QUESTION BANK

MACHINIST THEORY LEVEL-1

Q 1. In terms of safety, what is the full form of PPE?\ gR&T & '\fr‘c:ﬁ ff PPE
&1 guf =0 F1 §

A). Personal Protective Equipment\ gdad Urefaea _ﬁ’@qﬁf
B). Protective Personal Equipment\ mrefaeg ud=a ‘s’@trff‘c’
C). Public Private Enterprises\ ufsd® EIT_&'a_C’ S;_C’YEITS'@[G[

D). Property, Plant and Equipment\ EITU_CPf, Wic U8 _&']%Uﬁir

Q 2. Which of the following is not a meaning of 'S'in "5 S" concept?

\FRofafaa & T &1 "5 s* rayRom & 's' &7 34 T8 82

A). Smart\F:IT'(f

B). Sort\ qre

C). Sustain\ RS

D). Standardize\® TS SIZH

Q 3. Cost that is relatively fixed over a small volume or range of activities

but is variable over a large range or volume is knownas____

g Sl fbareard &t @it 9uh 8g wufée wu 4 Afya ug fearsandl o
fa=ma 9ot 8 uRR

A). step cost\ XY B

B). fixed cost\ s B

C). marginal cost)\ T Td PIE
D). period cost\ MnRas Pie

Q 4. While rescuing through ventilation, time taken to give first two
breaths should not exceed A aTﬁ—ﬂ'ElT? & HHUH J §91d & QTQI-—I, at
Th UgHl G 4Tl BT HY ¥ effere gt g =gy

A). 5 s
B). 10 s
C). 15 s
D). 20 s



Q 5. Which element of work is represented by given figure? \ ol _gr_s: W?ﬁ

T H1d & fbg da &I ciar 741 32

A). Delay\ ax

B). Inspection\ FM1&0r
C). Storage\ HUSIRTI
D). Operation\ Udldd

Q 6. Analysis of a job for the purpose of finding the preferred method of

doing it is called___
e & favor s
A). Work Study\ ®1d T

B). Time Study\ IHY LTI

C). Productivity\ SdIqdhdl

D). Cost Study\ Hed 3egg+

sign.\ ﬁtﬂ el

A). Prohibitive\ AYuyras
B). Informative\ JddIHD
C). Warning\ EGICEI

D). Mandatory\ fard

Q 8. Which of these is used as protective equipment for hearing
protection?\ 38 U fH U UAIT 490 9919 5 Uh Y& IYHIV & Y Y
forar Sran g2

A). earmuff\ SIVHD
B). gloves)\ RS



C). helmet\ %aﬁ?_’
D). respirator\ ¥IIF

A). angles\ I
B). length\ F’Tﬁﬂg
C). time\ HY
D). inertia\ 9IS

A). Try Square\ ¢ld WPIYX

B). Screw Gauge\@ﬁa

C). Vernier Calliper\ T Hferuz
D). Sine bar\ HIgd dI}

\ AT TS BT YA

Q 11. Snap gauges are used for measuring

¥ [1u4 3 far orar 7

A). external dimensions\ ElT_‘é’ﬁ SArH
B). internal dimensions\ fiai® marH
C). gaps and grooves)\ g Tq g4l

D). gauging radius\ HISKRE]

Q 12. The bench-type engine lathe is generally powered by an electric
motor, mounted to the bench behind the lathe
399 Y H U Aggd MeR g1 ufdd uerd &t ondt g, [BiY ay
F WY arell §9 F HUL TIAT W1l 3|

A). headstock\%3ﬁ$
B). tailstock\%ﬂﬁ$
C). carriage\%ﬁﬁf

D). bed\d®



Q13. __operation used to produce a regular

crosshatched pattern in the work surface.\ fooar &1 g

H1d Idg U JIATY 3MMST - @1 Ued 919 & H1H # 31l |

A). Knurling\ Ffef

B). Counter Boring\ ®I3c SfET

C). Internal grooving\ STAN® A HI
D). Turning\ o

are used to grasp and hold barstock. \ aY H
&1 yaIT fbar Srar B

A). Collets)\ Fifae

B). Face Plate\ Y W
C). Chuck\ d&

D). Dog\ 3T

Q 15. is used to hold large irregular shaped workpieces in a

lathe.\ Y # fa=ma Ifaflrd sTHR & aH W & UH S 8q
___________ &1 JAqIT fHar S g

A). Face plate\ Y We

B). Collet chuck\ PHide IH

C). Centre\ e

D). Catch plate\ G| T

Q 16. is a hollow cylindrical shaft.\ _ Th ECIREKN]]

SATHIY ATUC gl |

A). Main spindle\ A4 f&sd
B). TaiIstock\%aE'T$

C). Carriage\%ﬁﬁf

D). Bed\d§

Q 17. Given figure represents____ tool post of a lathe.\ al E'sc

AP Ay g9 W g 3



A). British type)\ fafew cIgy
B). 4-way\ B d

C). Screw\ ¥p
D). Quick change\ fo® I

Q8. attachment is widely used for manufacturing of a job
with profile of unique specimen.\ fHd favy qqﬁ P u‘ruﬂ‘s’a qrd Sid &
IdIgd & fqe gy egHT BT UM fHar Srar 7|

A). Taper Turning\ eur ef

B). Profiling\ Eﬁtb—fgﬁfm

C). Straight turning\@,\?_r i

D). Face grooving\ By Zﬁﬂ

Q 19. helps to set the vernier slab in any position on the beam

__________________ affay Ffaur § g e o i\
T U fedt off TurT § AT w33 H 1T USrT BT g

scale in a vernier calliper. \

A). Thumb lever)\ dg eigy
B). Depth bar\ CLII

C). Movable jaw\ qéaa\—yﬁ
D). Slide\ ¥ilgs

Q 20. For brass, back rake angleis__ A\ iG] %ﬂ , 9% 3P
ca L g1 8|

A). 0°

B). 15 °

C). 9



Q 21. Large nose radius will result in: 1. more power consumption 2.
higher tool life 3. better heat dissipation Which of these is/are CORRECT?\
fazna A e & aRong g1 1. 3ifde wfdq Wud 2. I= ¢d 31y 3. dgaR
S 390 3% § 317 9/ 951 §

A). 1,2,3
B). 1,2
C). 2,3
D). 1,3

Q 22. Radial force is in orthogonal cutting process.\ R E ]

wers ufpw AT Id i

A). zero\ YU

B). infinite\ 349d

C). unity\ E'W[_s:

D). maximum) HfyHda

Q 23. is used for making taps, dies, chisels etc.\

____________ &1 YA ¢, ST, &+t gArfe 9917 /g faban oran g
A). Carbon steel tool\ HIdT L cd

B). high speed steel\ 3= GRS

C). Cast alloy\ Gddl fHeTqg

D). Diamond\ éﬁ

Q 24. Tool life with increase in feed.\ BIg & a?{%f T gry+

A). decreases\ gedt

B). increases\ a?{?‘ﬁ

C). does not change)\ srgfyafda ?E{T‘ﬁ
D). becomes zero\ {Y[U MGl

Q 25. Trammel is used todrawa___ A ?;FFIWU@W _______ Ca
g4 ¥ fooar sar g

A). circle\ dd



B). rectangle\ TIdIPRIX
C). square)\ gif
D). triangle\ ﬁﬂ\_ﬂ

micrometer.\ f&ar gl ICE

A). Anvil\ TFd
B). Flange\ Tl ol
C). Sheet\ e
D). Tube\ &Jd

Q 27. Which of these is used to measure angle?\ _Q':Tﬁ I fpIHT gaT B
& {19+ | fHar orar g2

A). Combination bevel square)\ HIFIAYT 99T THIAR
B). L-square\ Ud- DI

C). Try square\ ¢lY WYX

D). Steel rule\ a4

\ fsaRa & &7

Q 28. Cam shaft in bearing is an example of
MG BT U 3218 ¢ |

A). Easy running fit\ E'Gﬁ IFT fihe
B). Slack running fit\ ®$ IFT fihe
C). Push fit\ X1 T

D). Press fit\ Uy fiee

Q 29. Size of the job obtained after machining of workpiece is called
________________ \ 35U B A NHd HIT F TS U §U Sd & ATHIR
@ HET ol g

A). lower limit\ g A
B). upper limit\ L RURSIE: ]



C). deviation\ PId
D). tolerance\ Hgddl

Q 30. In normalizing, the quenching medium is _A\ WﬁﬂTgﬁT‘T
defRvmean_ BIal g |
A). air\ &dl

B). furnace\'l-fgof
C). oil bath\ 3TId dY
D). salt bath\ Tlee T1Y

Q31. ___ is done to remove brittleness of chisel. \%—:ﬂ &
________ forar S § |

A). Tempering\ cufRT

B). Annealing\ KEINE

C). Carburising)\ Wﬁﬂgﬁm

D). Hardening\ E'Tgﬁﬂ

Q 32. Cyaniding, Nitriding, Carburising etc. are the methods of
 \ Trgargfém, Arsersfén, mdugfoim enfe &

A). Case hardening)\ &Y ETScﬁ‘T
B). Tempering\ e

C). Annealing\ KIEE

D). Normalizing\ :ITITF’ITE'ﬁW

Q 33. is used to hold the cylindrical job at the work table.\

% T UR JANHIR ofd DI UHSH 8q &1 YA fpar Srar g

A). V-block\ JI-sl®

B). Jig\ form

C). Step block\ XY <AIh
D). Angle plate)\ uTd we



A). Tool Maker's vice\ ¢d e one Tﬂgﬂ

B). Carpenter's Bench vice\ PHIRUCY o EIT%F
C). Pin vice\ o EIT%G

D). C clamp vice\ A4t FdT ?ﬂéﬂ

Q35.
such as reamer, cutter drill etc.\ ﬂ'q?, hc %(‘1 i‘»(tlllra K| oifed 31I<1>I?I &
HET A BI UIRER T4 'Y &1 U fbar Srar g

A). Tool and cutter grinder\ ¢d U4 H T A58
B). Centreless grinder\ YeTdY ‘xlléSQ

C). Thread grinder\ DG DIERES

D). Piston grinder\ fUweq DIEISES

Q 36. Which of the following is not a type of Form relieved milling
cutters? \ RAfARIT & § T wrd Reftes AfAT HeX &1 UF gHR T8 82

A). Helical teeth side and face cutters\ 3fdd 1Y TS TF BY HTX
B). Concave cutter\ PHITbHd BT

C). Corner rounding cutter) HTHR AIFET Hex

D). Involute gear cutter) 3@?13 gy ®ex

Q 37. Grinding wheel is a type of tool.\ ‘JIT%'%‘T é)fa

YT BT TH UHIR ¢

A). cutting\ FHfeT
B). milling\ fafe
C). drilling\ fgﬁﬂ’[
D). dressing\ fgﬁm

Q 38. is mostly used in turret lathe for typewriter's

parts.\ TISUIZCI U 8 €T Y U JHfAHAR BT U

S -

is used to sharpen cutting tools of complex shape



A). Two jaws chuck\ ¢ SIEED

B). Pneumatic chuck\ CIBCIRECET

C). Combination chuck\ HIFAYT Ib
D). Magnetic chuck\ qwﬁa g

Q 39. 18-A-25-H-5-V-15 In the above given description of Grinding wheel,
'V' denotes for \ & T T wERT d & faaxur d, v 9

A). Type of bond\ §YT BT UHIT

B). Grain type\ PEEIREIE

C). Hardness\ Il

D). Type of abrasive\ AYUYPH BT TBHI

Q 40. Which is the hardest bond material?\ JIY H3IR dYT an?-f P

g1 82

A). Metal\ UTq

B). Resin\ IfT

C). Oxychloride)\ &ﬁa@?ﬁﬁﬂgg
D). Rubber\ YdX

Q 41. Which is best suited for grinding soft non-ferrous materials? \ 9IXH
3Ag uardf &t MEfET & Y 99d Iugad &1 g2

A). Silicon carbide)\ IRINCIG Wan‘sg

B). Diamond\ é'\RT

C). Alumina\ Qﬁﬁf:ﬂ

D). Cubic Boron Nitride\ ®fd® SN AT S

Q 42. Soluble oil or emulsion is used as cutting fluid for ___ A\
g dd HYar SHRA g $iET g9 & U 4 ydIv fob
od |

A). mild steel\ Hg LS|
B). cast iron\ cddl F‘ﬁET
C). titanium)\ ‘c'r's;?:’ﬁrtrrr
D). Diamond\ ébfﬂ



Q 43. Class gauges have an inch tolerance of .0001” for

___________ S &I §9 ela¥T .0001” Bidl |

A). Z
B). XX
C). X
D). ZZ

Q44. is used for off hand truing of conventional abrasive

wheel.\ URUR® Ug¥® §d & ol gUS 3T _________ 1 9T fear
I

A). Vitrified abrasive stick\ ﬁg"rvﬁr‘s’g JYYY®H feh
B). Diamond truing tool\ IR ggﬂ cd

C). Steel cutter\ W de

D). Carbide crash roll\ Wan“‘s’ts’ %QT Jd

Q 45. is used as a tool material of router milling cutter for

fibrous or abrasive plastics.\ BT YT BIZER YAl ATYYEH

WRe® 3G TSR BT Fex & ¢a vard & ®u ¥ far oan g

A). Solid Carbide\ WIfaIS HIIZS
B). Polycrystalline\ Olalfohca@g
C). High Speed Steel\ 3= IS
D). Diamond\ SIgHS

A). Single Flute\ RiTTa@ Ul
B). Straight flute\ T TRIC
C). Double flute\ Sdd U
D). Triple flute\ EUH U

Q 47. Shellac bond is used in grinding wheels for grinding of
A\ WEfET ga ° Ae® §is Pt WefET HA 8q




AT a1 Srar g

A). mill rolls\ GRS
B). edge tools\ Ul ¢df
C). razor blade\ ISR &S
D). cutlery\ HTA

Q 48. Tapered wheels are used for the grinding of___

___________ ®I MEFET HIF 3 U H A1d o1 g
A). Gear teeth\ gy & aid

B). cylindrical wheel\ ST@ATHIR &I

C). milling cutter\ fafeT wex

D). cutting tips\ FHfém feg

Q 49. The removal of blunt abrasive particles from the surface of wheels

is called of wheel\ BId &I Td8 ¥ $fo6d JUGYS HUI &

Frar el cok: Bl STl B |
A). dressing\ 3ﬁm

B). truing\ ?\:&'W

C). making\ AfdT

D). finishing\ AR

Q 50. is a drilling process by which internal threads are

___________ , T ffeim ufpan g forad sfialk® qfsat 1 Ffo

A). Tapping\ eft

B). Lapping\ aft

C). Trepanning\ Eﬁa—ﬁm

D). Spot Facing\ Wi BRI

Q5. is a narrow strip which extends to the entire length
of the flutes in a twist drill.\ T ¥l @E Psa | U ﬁ@ﬁ[ﬁ qg"r

gt 8 Sl e @t gguf derg 9% B o g

A). Land\ de



B). Margin\ it
C). Point\ tﬁgf‘f
D). Dead centre\ 3T e

Q 52. Which of the following can do drilling and counter sinking at one

time?\ Fofafed & § &0 e 9oy uR f$fT vd #13ex RifdT &I %@ g2

A). Centre Drill\ e %’a

B). Counter Bore drill\ ®13¢R &R i?ﬁﬂ
C). Oil Hole drill\ 3Tdd gd fgd

D). Spirek Drill\ IBEEE ﬁ;‘fa

Q 53. Aluminium and its alloys have a cutting speed of m/min.\

TgHAH Ud 3Pt AyuUrget & Hars Afd

A). 70-100
B). 5-8

C). 20-30

D). 35-45

Q 54. GANTT chart, PERT and CPM are the tools of .\ GANTT ElTEF,

PERT Ud CPM P IUBI g}

A). Scheduling\ é’r@qﬁm
B). Dispatch)\ SRS

C). Loading\ g

D). Balancing)\ SR

Q 55. The given figure depicts the following work element.\ ajf _§'_5c 3‘”?%
9 &1 a@ gl 3|

A). Inspection) _Q'FEWJIQT:[

B). Transportation)\ aﬂtﬁ:&ﬂq
C). Operation\ NICERIE]

D). Storage\ TR



Q 56. Which of the following is a measurement of internal resistance of a

lubricant? \ FUfIfad & 4 =1 A5 & ialk® ufady &1 a1us g2

A). Viscosity\ Irdl

B). Acidity\ 3&idIl

C). Oxidation\ e

D). Neutralisation Number\ ELRICICEUEED

Q 57. friction will help a person walking on ice.\

gy fpd afed & 9% ur Ida & IgTadl Uerd Sl g

A). Static\ IEXIpy

B). Sliding\ fhadad
C). Rolling\ Jfer
D). Fluid\ ZaId

Q 58. For low/medium radial loads,

T YRl 8q

__________ bearing is used.\ ﬁH/q?ﬂ
__________ fygfk &1 g fear snar ]

A). ball\ §Td

B). roller\ JdT

C). thrust ball\ Y& &ld

D). deep groove\ Sy 4

Q 59. Deep groove ball bearing offers maximum permissible speed

because it givesa__
U A AP AT IH___________
A). point contact / TqUSH %‘g’

B). line contact / TdUdh 3T

C). self alignment / ¥ LERCLY|

D). good rigidity / 3= <edl

Q 60. In connecting rod bearings, is used as a bearing
material.\ P S faRT & aRmogd s w98 __ BT gAT
fear Srar 8



A). copper-lead alloy\ PHIOR-TS ﬁf’}[‘?ﬂﬂ
B). sintered alloy\ fAafed &{’H?ﬂﬁ

C). cast iron\ cddl FﬁET

D). plastic\ e s

Q61l. is also called home position of the tool.\

_____________ DI g @I g9 dron off H A ]|
A). Program Origin)\ mare oA

B). Part Origin\ e NfRfrT

C). Machine Origin\ 7T NRfSA

D). Exact Origin\ Tdsige NRFTT

Q 62. For 'Tool change', the M-code used is A"gd EGK %ﬂ

ggad MBS =

A). M06
B). M04
C). M03
D). MO5

Q63. A _ consists of amplifier circuits, drive motors, and
# TIdiwrar gfde, grga dArex U9 dfd-

ball lead-screws.\

s & gl B

A). drive system)\ gIgd GE

B). machine tool\ ERIE] cd

C). feedback system)\ BISd® dF
D). part program)\ ard MW"

aeé64. ___ is used to program geometrically similar components

with varying sizes.\ _l g T THERS ard SfHdig 9 9
1T ATTal I WATH HIA g Har Il g

A). Scaling function\ I ol 17 e
B). Pattern rotation)\ o Ao



C). Tool selection\ gd RraawrT
D). Spindle control\ s $U§Pf?f

Q 65. What do we call a set of words and characters that define
operations of the control in CNC programming ?\ CNC marfET | , ‘\’Ta‘ﬁ ug
3&3 BT 98 Y Sl HUSIA & AT I gRUINT HIaT g, T Hgard g2

A). block\ &l

B). parameter)\ YR
C). code\ AR

D). rib\ R

“

Q 66. In CNC programming, the control uses “___” to mark the end of a

block.\ cNC TionfHT &, ®wogra " P YA &P & 3fd B IR d
H3 8 B 5|

A).;
B). :
c)./
D). |

Q 67. is the smallest unit of CNC program.\ Ll

T & WUH & II B 3PS g

A). Character)\ PIFT
B). Word\ as

C). Block\ &

D). Line\ g

aeé68. __ is used to prepare the control system to a certain
desired condition.\ ___ CARCEIR] $§P[Ff 49 ! fedl oy gifesd
AT H qAR HIA g fHa1 orar g |

A). G-codes)\ G—EbafSH
B). M-codes\ M—Eb;ﬁs:ﬂ
C). T-codes\ T-Eb;fSH

D). U-codes\ U-Eblf_SZFT



Q 69. To end sub-program, code is used in Milling CNC
machine.\ I&-WAH &I I HI4 & ¢ AT cne 7=fiT o
DS BT U fbar o g1

Q 70. In CN machines, reference point is also calledits

uq A= &, Y69 fdg & I9H 1t &1 ST B

A). home position)\ EP[I[ IR
B). periphery\ IRBH

C). edge\ UVl

D). horizon)\ EPRT_S’G:T

Q 71. Identify the type of gear shown in the picture.\ CER:| ?{Qﬁﬁ RIRY gz
& UHIR I UgdT |

A

A). Bevel gear\ d9d AR

B). Spur gear\ WX firaz

C). Helical gear\ %ﬁwa gz
D). Worm gear\ ard frax

____________ gears are widely used in automobile vehicles. \

g o 98 W U Siermarsd migal # wa fear srar g1

A). Helical\ %ﬁl$a
B). Worm\ ard



C). Spur\ ¥R
D). Bevel\ d9d

Q 73. Worm and Worm wheel are used for____ power
transmission.\ dH TG A @@ T UAT wfdq G gq foea
ST B |

A). low\ M™

B). high\ 3=

C). both low and high)\ IGL Ud 3= CiGl|
D). infinite\ 344

Q 74. At Economic Order Quantity, total costis___ \‘s’ﬁ:ﬁ’ﬁ{aﬁ
MR BifeA R, gaged___ G

A). minimum\ IdH

B). maximum)\ Hfysda

C). infinite\ 3H=d

D). zero\ YU

Q75. stage of the Preventive maintenance is done to keep the
machine assemblies in working order.\ Tl srdefaal o wrdsia v &
G g RaR&s y@R@ma &t RS Bt Tt g

A). Small repair\ [ JgYUrR

B). Medium Repair\ HHH JYUIR
C). Inspection\ &0

D). Overhauling\ aﬁaqeﬂ%'m

Q 76. Which of these is not a part of Recording technique?\ _s'-_-[ff T &1
RpifeT awie &1 us Ui A8 82

A). Observation\ IS EGRIE]
B). Process chart\ mayg e
C). Templates)\ THdT
D). Diagrams\ SIIJUTH



Q 77. Routine maintenance as compared to Preventive maintenance is
_____________ useful for heavy industries.\ %a"r I %ﬂ fa® I@vEg
EAI@IEA Y ____ U gId B

A). less\ ®H

B). more\ 3fdw

C). equally\ ST EY I

D). not\ HB?'

Q78. is the use of resources at a level rate that is
measured at least daily. \ __ AT SR U IWY BT YA & S FH I
&7 Ao wfd F3 w1 g

A). Linearity\ i

B). Level schedule\ q9d ﬁf@gﬂ

C). Line Balancing\ dIg-d SR

D). Flow manufacturing\ tl?ﬁ'a?[a??ﬁfﬁ"[

Q 79. Which of these concepts means "change for betterment"?\ 3'_'Tff I
g =R &1 o » 9gdf & fyw sgara- g»

A). Kaizen\ W‘%"@f:f

B). Six Sigma\ gog &

C). Horizon\ BIISS

D). Total Productive Management)\ dled Msfaeg Aawde

Q 80. Breakdown situation in Routine maintenance as compared to
Preventive maintenance is A A9 ®s IWIWIG Bt AU T

I@IWT H FHIIIT ATTUT gl 8|

A). more)\ I

B). less\ ®H

C). same\ HHIA

D). uncomaparable\ Hﬂa:ﬂﬂ

Q 81. The disadvantages of Breakdown maintenance are: 1. loss of time 2.
high repairing cost 3. loss of work Which of these is/are CORRECT?\
SH SIS IWIWA & ¥ §: 1. GAY B g1 2. 3= RUART g7 3. &1 &1




g 390 9 &9 /3 et § 2

A). 1,2,3
B). 1,2
C). 1

D). 2,3

\ AU v UsR &

Q 82. Special type of maintenance includes
I@IWIT & 3faifd 31T B

A). inspection and lubrication both\ e Tq @[E"_'T K]
B). lubrication only\ »Id @[E':f

C). inspection only\ Fad e

D). inspection and overhauling\ fAdteror vd W

Q 83. leads to lower Work in Progress and reduced lead

———————————— 9% &9 NI B ged 3 vd A agH H o B B

A). Just in Time\ WX g4 CIgH

B). Total Quality Management)\ AT Hrfad aa9dce
C). Ergonomics\ Qﬁ:ﬁﬁ[?ﬂ:{

D). Value Analysis\ %FELQ?T%@[H

Q 84. Which of these is the primary objective in Total Quality
Management?\39H ¥ § T Acd HIfact AATHC T MYAF IT g2

A). Quality\ UTddl
B). Quantity\ HIAI
C). Wastes\ hdX]
D). Service\ T

Q 85. The full form of AQL is_ A TR U Dl E[\Uf

A). Acceptable Quality Level\ QER?[@@’F[ HIfcdl dad
B). All Quality Level\ 3{id ®Ifact ddd



C). Acceptable Quality Limit\ Haﬁ@a’a wIiferdt fafae
D). All Quality Limit\ 3rd wiferet faffe

cam.\ SATHI FH

A). barrel\ GEL|

B). spiral\ ¥IgXd

C). globoidal\ Wﬁaﬁsa
D). disc\ e

Q 87. In slotting, width of the cutter is the width of

workpiece.\ TArfeT ff, HTI DI T’ﬁ@Té IJHUT B 5?[3[% q

A). less than\ ®H

B). more than\ Ifs

C). equal to\ HHIH

D). uncomparable to\ &rqaﬁ’ru

Q 88. Planing machines are used for__ A T FRA BT U
& fore fpa Srar B

A). large jobs\ 336.’ SIE]

B). small jobs\ EIGASIG)

C). light duty jobs\ b UAITT & Sg
D). any job\ fedt ff Sife

machine.\ ol E_ﬁc




A). shaper)\ YU

B). drilling\ ﬁg’ﬁm
C). milling\ fafer
D). reaming\ QT

Q 90. Throttle valve, relief valve and control valve are the parts of a
___________ shaper machine.\ MTd died, RAI® dled T dhald
ared YT M F HIT ||

A). hydraulic\ BTE'@]%‘[$
B). gear type\ gz g&R
C). horizontal\ a?rf%r\‘:r

D). crank type\ $P YD

Q 91. The type of gear used to connect two intersecting shafts is ......... /

3l AAfdUIT® Mue B A & forw ga fFar s aren Mg &1 ywiR g

A). Spur gears / WX UEES

B). Bevel gears / gad fiax

C). Helical gears / %ﬁff$a firax

D). Worm and worm wheel / gd anR 9o %)[Ff

Q 92. The process to create a true and concentric surface of the grinding

) e RUsd 3rgr ¥ Uyy
HEATA g |

wheel with the wheel spindle axis is called

ufed @ gdg & Gt g3 oMY Ihf=a 9717 & fpan

A). Cleaning / FAHT
B). Dressing / t%ﬁm
C). Truing / E_&"T

D). Facing / &R

Q 93. The grinding machine used for reconditioning of dies, jigs, tools is

called /€T3, 579, IUSIUN &t AXWT & T gai 19 archt gwor Aefiq
HEdrd B

A). Surface grinder / U DIEESE!
B). Cylindrical grinder / -G\IQ'1"||C|’>|Q HIéSQ




C). Centreless grinder / %Qi%d DIEECE
D). Tool and cutter grinder / ¢d 3T e PIEEES

Q 94. Which of these is not a milling machine cutter holding device? /

599 q HIa91 AT AT He aifEg fgarsy 78 82

A). Arbor / 3TaX

B). Spring collet / @i wifae

C). Screw on arbor / ¥p 3T 3MTaR
D). Chuck / d&

Q 95. In a milling machine, the cutter is mounted on .............. / Uh fafei
gRFH Hex ___ TR @ gl B

A). Socket / eI ol

B). Sleeve / g

C). Arbor / 3SR

D). Dead centre / 3T X

Q 96. The table top of a planer is provided with ................ / Th QY BT
eya iy ___ & Ty e far o g

A). U slots / U Wic

B). Cslots / C Wic

C). Tslots /T e

D). D slots / D Wic

Q 97. The length of the stroke of a planer can be adjusted by changing the

position of w... / _____ 3! UMY BT ITABI WA & LIP B! AEIg Pl
AT fpar o e g |

A). Limit switches / A a9
B). T-slots /T - W’TE:F

C). Planer table / A% ¢9d
D).V -slots / V - WT?{H



Q 98. Knurling is an operation of ............... / fef

fafy 3

A). Facing on the lathe / W[g UX TR

B). Plain turning on the lathe / WXIq UX INERAEL

C). Taper turning on the lathe / WIq UX eur efFf

D). Roughing the surface on the lathe / W ¢ UX Y§ I (&)

Q 99. A planer differs from the shaper in this respect that in the planer - /
TP AR I IEH A IR AT G 8 6 wax & -

A). Tool is stationary and job reciprocates / 3R AT g dl % 3R THAT
M-S I 3

B). Tool reciprocates and job is stationary / SR M-y Tad % 3R
T RIY IEA

C). Tool and job both reciprocate / IR 3MIT THAT oA SN-NY Idd %
D). None of these / s':rff I aﬁg :ffupf

Q 100. What is the pitch diameter of a gear having 36 teeth and 3 mm
module? / 36 &id 3fX 3 Tt Afega ard fMrax &1 fU9 =1y @1 72

A). 12 mm / 12 fadh
B). 75 mm / 75 ot
C). 80 mm / 80
D). 108 mm / 108 o

Q 101. The type of planer which has only column is ........... / @Y BT dg
THIR TN HTT HIAH GTd 8 TT G coovee.

A). Plate planing machine / e T 7eftg

B). Pit planing machine / fue wfHT Agfa

C). Hydraulic planing machine / BTS'_QPH%T$ T ALA
D). Open side planing machine / KTee) SIESS i gefiq

Q 102. The type of slots provided on the top and side of shaper table is
.......... / AUR I & <Y MR WIS # UlF fHd T Wiy &1 UHIR g




A). U type / U CITU
B). T type / T CIRU
C). | type /| CI]U

D). L type / L CIgU

Q 103. The principle of working of milling machine is .....

AMT P BTH HI BT RAGTT R

A). Cutter rotates / P CX bl YHHI
B). Job rotates / "H-LL:I hl gHAI

C). Work moves against a rotating cutter / zwa gy v & LII?1<33¢1 CED

fegea g

D). Cutter moves against a rotating job / %a Y 'ﬂj\:I & Hi?lggﬂ hc

fgear g

Q 104. The accuracy of vernier height gauge in metric system is ....

Hifew gonelt # affaR 13 A9 B IAFAT R e

A). 0.002 mm / 0.002 &t
B). 0.02 mm / 0.02 THH.
C). 0.10 mm / 0.10 THH.
D). 1.00 mm / 1.00 4.

Q 105. In its simplest form, bronze is an alloy of ...........

e U H, BT o Wy a1g g 8|

A). Copper and tin / didl 3R feq

B). Copper and zinc / didl 3R NS

C). Copper, zinc and nickel / didl, Sie sk Aed
D). Copper, tin and lead / didT, feq s s

Q 106. Plain milling is done for ................... / @ fafdn
@Y STt B

A). Face milling / g fafel

B). T - slot milling / T - wire fafer

C). Machining flat surfaces / HJJ Faﬁﬁ F AN HI
D). Milling narrow slots / ALY Wﬁ?{ﬂ &I ﬁmé

/ T4 9§y



Q 107. Slitting saw cutter is used for ............... / f@afeén af e &1 uam
________ ¥ fau fear srar g

A). Cutting convex grooves / 3dd @id HIeA
B). Cutting keyways / PId Bl

C). Cutting of length / ﬂ#dl‘:-: I GbCIsr

D). Angular machining / It gt

Q 108. The material for which no cutting oil is required while drilling is

.......... / o arah & fau fefe w3xd 9ug fed &ET ad & sragdwda
AT @, 98 ___ g &

A). Aluminium /Q@Iﬁﬁqr{

B). Tool steel / ¢l T

C). Copper / didl

D). Grey cast iron /‘3[ cqadi ﬁfﬂ

Q 109. The tool post of a planing machine is mounted on............. / T
WHT AR s ga e __ U3 A Bl 5|

A). Cross rail / HIg Id

B). Clapper box / FAUR S

C). Apron / TYUH

D). Saddle / 9T

Q 110. The cutting speed of the tool in a mechanical shaper is maximum

at ... / BFAHT U T MR Bt Hers vfa F ST AfYHan

A). Beginning of the cutting stroke / G| Ej$ & ][® 3{Td |

B). End of the cutting stroke / HfcT Ej% & 3fd o

C). Middle of the cutting stroke / &7 €Idb & g I

D). Any time during the cutting stroke / G %Q\IOb & C?IQI'-I T off

Q 111. On a mechanical shaper, the rotary motion is converted into linear

motion by .... / T® AHEd YU UR, A 1fd & I\@w 7fq &



2% gRafda faar smar g

A). Cam mechanism /%I{ ﬁ%ﬁ@:{

B). Bevel gear mechanism /éa’a gy asfes

C). Crank and slotted link mechanism /%$ Gﬁ? LN ISR NED ﬁ%ﬁ@:{
D). Worm and worm wheel mechanism /‘q’f[ 3?[? ad O_GDIFT ﬁ%ﬁ@:{

Q 112. The cutting speed used while slotted is decided considering which
among the following? / G g91d IHT UG Bt TA $ET§ fd ﬁHﬁ‘T@H "
Y fpg®! &1 § I@A g 9T B ol 82

A). Depth of the cut to be taken / o ST 9Tl e Bt ‘I‘(‘:Qlir

B). Rigidity and condition of the machine / AT B HIRAT 3R U
C). Material of the cutting tool and the workpiece / $ET’$£ SR 3T
g U & gard

D). All of these / T gt

Q 113. The eye hole in a hammeris ............... / ngaﬁ%ﬁ&n‘é%‘rﬁ
_________ Bl 8|

A). Straight / e

B). Tapered from handle end /E’Rﬁ & Y 9 gaan
C). Tapered from both ends / Eﬁ:ﬁ 3 T gdan
D). Tapered from front end / 3Y ¥ 4 ggdn

Q 114. The distance through which a screw thread advances axially in one
turn is - / 98 g% 9% Ae0H ¥ TH a1 § TH U9 St gfsdl &g U 4
3T ggdt 8-

A). Pitch of the thread / Ej\@ﬁ CARCE]

B). Lead of the thread / ﬂ;‘ﬁ ARSI

C). Depth of the thread / ﬂ\g)[ 3| ‘T_G'TTE;
D). Diameter of the thread /ECLSOI I AT

Q 115. Which cutting tool is used to finish a drilled hole? / U ﬁ'{a Y EI
& IR T HIA & AU fH9 FeTs AR &1 9T fowar orar g2

A). Die / BT%



B). Tap / U
C). Reamer / PiEEEd
D). Broach /@E[

Q 116. What is the purpose of fixing a ferrule on the handle of a file? /
fd Yt & ST UR SIS S! AW H T I gl |2

A). To grip the file /%Fﬁ B ghgHl

B). To prevent wooden handle from damage / c10r>sf‘| & %'5(‘1 BT &fd trg’%r?r
¥ 9914 & fae

C). To improve appearance of the file /i\_‘ﬁ 3! fgm@rae & ﬁ%ﬂ?ef & ]%’[Q
D). To improve safety while using the file / X<l W HIT IHY gl H
JUR HI & [T

Q 117. Counterboring is done for ............... /WG‘EIEﬁﬁ'T[
STt B

A). To deburr the ends of a drilled hole / Ud %’a ﬁ?ﬁ RILY %’3 & R &t
19T I & T

B). To enlarge a drilled hole to an exact size / U ﬁ;’ﬂ %Q Ma @E{ CARIEED
PR H §3T HI & AU

C). To finish a cored hole / ®IX f&T T ¥¢ & URPHT HIA

D). To accommodate socket head screws / gib T %'_6' b &I ATAINT HIA

Q 118. Which of these is one of the materials used for making grinding
wheels? / $9H & ¥ S99 U0 9T 9714 & fI¢ g fbq o= arad ueredf &
JTH g2

A). Silicon carbide / IINCIE! Wﬁﬁgg

B). Granite / ‘jﬂTg_c’

C). Sand /%?‘f

D). Calcium carbonate / gy sreiae

Q 119. Vernier depth gauge is used for measuring ................. / gffav Sty
IS HT AT wus & forw fear ordn g

A). External dimensions / Eﬂ_s'ﬁ STgrH

B). Internal dimensions / iai® smary



C). Step or depth of blind hole / 3¥Y BSEE] W@UW‘TEQT%
D). Pitch diameter / fUg ooy

Q 120. What is the least count of vernier bevel protractor? / gffaz 99
WedRR BT AUdH D I g2

A). 1 minute / 1 fqe
B). 5 minutes / 5 e
C). 10 minutes / 10 e
D). 25 minutes / 25 fqe

Q 121. Which of these is an indirect measuring instrument? / _&':fff I Ebsf:f
T UF AU AU aren IF g2

A). Inside caliper / 14T S Ffruz

B). Vernier caliper / gf¥aT Hferuz

C). Universal bevel protractor / qﬁraﬁa Iad Eﬁafﬁfq
D). Inside micrometer / S9HITS IITE'ﬁIﬁEY

Q 122. A screw driver has three main parts. Which one is not among these
three? / U% Wb STa% & dI BT HITT BId §| ST 4 <1+ # § TS 98
g?

A). Blade / Euic)
B). Shank / Bl
C). Handle / %3?1’
D). Hub / 89

Q 123. The type of hammer mostly used in blacksmithy is ............ / ﬁgﬁ

F A H AfYHIX AT 8 TAT WS G oo

A). Claw hammer / USIT g?ﬁ@

B). Sledge hammer / FﬁBT? DI E‘:’@[ST
C). Ball peen hammer/Eﬁﬂ siE] _6'??[3,'[
D). Mallet / AHSI BT BAUISI



Q 124. A taper ring gauge is used for checking ............... / Th euR R AW
@I Sig= & g uaT foar Srar g

A). External taper / aTngf TUR

B). Internal taper / faf® TuR

C). External threads / Eﬂgﬂ Ej\%tﬁ’
D). Internal threads / KIGIRCY ﬂ%ﬁf

Q 125. What will you use if layout of many pieces of same shape is to be
done? / T UH B ATPHIR & H5 cH Sl BN AATIT HIAT &1 al 3T FT I
HIT?

A). Frame / HH

B). Template / THde
). Jig / T

D). Gauge / |



LEVEL 1 ANSWER KEY

Question No. |[Option§Question No. [Option f Question No. |OptionJQuestion No. |Option
1 41 A 81 A 121 A
2 A 42 82 122 D
3 A 43 A 83 A 123 B
4 A 44 A 84 A 124 A
5 A 45 A 85 A 125 B
6 A 46 A 86 A
7 A 47 A 87 A
8 A 48 A 88 A
9 A 49 A 89 A
10 A 50 A 90 A
11 A 51 A 91 B
12 A 52 A 92 C
13 A 53 A 93 D
14 A 54 A 94 D
15 A 55 A 95 c
16 A 56 A 96 c
17 A 57 A 97 A
18 A 58 A 98 D
19 A 59 A 99 A
20 A 60 A 100 D
21 A 61 A 101 D
22 A 62 A 102 B
23 A 63 A 103 c
24 A 64 A 104 B
25 A 65 A 105 A
26 A 66 A 106 c
27 A 67 A 107 C
28 A 68 A 108 D
29 A 69 A 109 B
30 A 70 A 110 c
31 A 71 A 111 C
32 A 72 A 112 D
33 A 73 A 113 c
34 A 74 A 114 B
35 A 75 A 115 C
36 A 76 A 116 B
37 A 77 A 117 D
38 A 78 A 118 A
39 A 79 A 119 c
40 A 80 A 120 B




MACHINIST THEORY LEVEL-2

Q. is a detailed description of work that is performed for
a work order.\ &3t @14 ®7 8Y f&T o7 arad &1d & faga Sr@)
HEATN 7|

A). Job card\ NICKCaS

B). Work in progress\ 14 gafa U %

C). Progress Report\ mag Roré

D). Cycle Time\ WIgfbd TIgH

Q 2. Which of the following is not a non-cardiac cause of sudden cardiac

arrest?\ AUfIfad & ¥ a1 qufgedy &1 te R FIfSTd HIRU AT 82

A). Coronary artery disease\ UP\’E’E{—‘JI{:‘){ T

B). Drowning\ gd-Il

C). Trauma\ ¢lHI

D). Overdose\ Gﬁa?_s;fﬁf

Q 3. In terms of safety, what is the full form of BLS?\ g &l & Hr_c{‘l-fﬁ BLS
&1 quf =T F1 §?

A). Basic Life Support\ IR NIELd gure
B). Biological Life Support\ STAIAINIG S AISH JUIE
C). Basic Line Support)\ IRr® NIEGH gure
D). Biological Line Support\ SINAMNE T @T3T JUId
Q 4. Cleaning of workspace falls under
@ WIS 55 AR &

of 5s concept.\ Wﬁcﬁﬂ

P siqaiid amar g

A). Seiso
B). Seiton
C). Seiri

D). Shitsuke

Q 5. Screw Gauge is also known as

WY B8 1T T

A). micrometer)\ m‘s’aﬁrﬁaz

B). sine bar\ ¥Igd dRX

C). 2D height master\ 281 glgc HIEX

D). slip gauges)\ BRI

Q 6. For tool-room and other precision work, despite using vernier

\ TA ¥ U4 3 Y& H141 5, 89 aFw

callipers, we use



SR Faera________ BT YA BT & |
A). slip gauges\ &g a9

B). sine bar\ IIg-d dIX

C). 2D height master\ 281 Blgc HIXX
D). micrometer)\ mgﬁtﬁa

Q 7. Bevel protactor is used to measure
oY+ |q fear orar g

\ 99 MEFEI BT AT

A). angles)\ ALY

B). length\ FTWT'SC

C). time\ HY

D). inertia\ 9IS

Q 8. Grits used in grinding are basically

qad: a1 |

A\ WEfET ¥ ugad e

A). cutting elements)\ $ET'$£ Hdgq

B). drilling elements)\ B RO ERE]

C). stabilizing elements)\ ?UI’{SOTNUI 3{dYd

D). surface hardening elements\ ddg _E'6°[$?UT 3Adgq

Q 9. Which of the following is not a type of lathe?\ fgfafaa o DT AY
1 TP UBR 981 52

A). Follower Lathe\ BIAI3T qY

B). Toolroom Lathe\ gd¥H qY

C). Sliding Gap-Type Floor-Mounted Engine Lathe\ Wg%"[ g HEL TR
AISCS 99 Ay

D). Bench-type Jeweler's Lathe)\ CE cIgyu AR dY

Q 10. Identify the lathe operation shown in the picture.\ ICEE:] asrfﬁr RILY

AY BT B UG |

A). Taper Turning\ eur ef
B). Profiling\ Eﬁtﬂgﬁfm

C). Straight turning\@\‘cr i
D). Face grooving\ By ﬁﬁﬂ



Q 11. Which of these is not a workpiece holding device?\ _s':f?ef T A U
JHHY UH S BT SUBIV 8] 82

A). Feed Rods\ BIs S

B). Chuck\ d

C). Mandrel \ﬁga

D). Centre\ e

Q 12. Least count in Metric Micrometer is
HISHIHIT | HTdHID

A). 0.1 cm

B). 0.01 cm

C). 0.001 cm

D). 1 cm

Q 13. Identify the following type of spanner.\ ¥ 3T Y W9 & UHIR &
EEEIEN

- = = —“-‘]
Hoer==

A). Monkey spanner\ Tl WA

B). Adjustable spanner\ QS’\_SR%HFT W

C). T-socket spanner)\ A-Tiebe WX

D). Offset Socket spanner\ BT Flbe W

Q 14. _ file is used to file both curved and flat surfaces.\

_ Ydagim Ud HTT <=1 gdal &l Xd4 & BT | 3Tt g

A). Half round\ BT% A3E

B). Knife-edge\ ATg® UG

C). Round\ 38

D). Triangular\ ﬁHGﬂW?

\ did &1 AfRrAfafad

A). 70

B). 25

C). 300-400
D). 160

Q 16. removes rivet or pin from metal sheets and pipes.\

orq el vd wsdl ¥ Rae sryar AT Mo 7|

A). Pin Punch\ IPERCE]



B). Snip\ &g

C). Scribble\ red

D). Stake\ TP

Q 17. Identify the type of rivet.\ e & UHIR B l—Isdl'}ll

h

- }

A

A). Mushroom Head\ HRI¥H %3
B). Pan Head\ a:f %3

C). Flat head\ tl%f.’ %3

D). Tubular\ &R

Q 18. Least count of vernier callipers is

inch.\ aFTaY HfAUI &7

@adis ___ $9 gl |

A). 0.001

B). 0.02

C). 0.002

D). 0.01

Q 19. The algebraic difference between the size and basic size of the job
is \ ot S & PR T o MTHIR & T &1 dofordty
3fa grar B

A). deviation\ é’ﬁQQT:T

B). limit\ farfde

c). fit\ fibe

D). tolerance\ oAy

Q 20. H7-p6 Press fit finds its application in
e &1 U & Trar e g

\ H7-p6 U9

A). split journal bearing\ fage 9+q fagfea

B). valve guide in head\ %TS' ¥ ared RIS

C). cam shaft in bearing\ fyafkn & &7 MY

D). idler gear on spindle\ fsd 1R AT SR K
Q 21. Diffusion Annealing is used to

pIR 8 forar oar g

N\ RS =T &1

A). homogenize the chemistry of material\ Hdlﬁ% XG1g- fagA Pl Uh U
HIA
B). increase machinability\ 7T &Y gad a?,r?r



C). relieve stress\ d-ld ®H B
D). increase ductility\ d=ddIl CIE
Q 22. In a milling machine, which of these is to hold and rotate the

cutter? \ T ffei ashta &, 399 § 7 HeX & uHSAT § 3R Ui
HIaTdl 87

A). Arbour\ S IEE

B). Ram\%ﬂ

C). Column\ AL

D). Bed\ 98

Q 23. Milling machine can perform operations like: 1. helical grooving 2.
parting 3. counter sinking Which of these is/are INCORRECT?\ fafeT azig
fafa w1 H3 It § oW b 1. gfada gfam 2. wiiéw 3. F1dex Rifdn
S8 ¥ $IF 91/ T4 g2

A). 3

B). 1,2
). 1,2,3
D). 1

A). vertically upward or downward\ & ¥ I FUR T A

B). horizontal\ f?fﬁf\_ﬂ

C). rotating\ EJ\UﬁZ[

D). in single direction\ Q$Eﬁ%mﬁ

Q 25. Shellac Bonded grinding wheels are used for the grinding
of A\ AP disS WEfET gd &1 g

& MEFET g fobar Sl 7|

A). mill rolls\ @ A
B). edge tools\ ﬂaﬁ@f 3R
C). cutlery\ Heda

D). cams)\ G|

Q 26. Coarse size grains have a grit size of___ A Gk gy 99 &1 B
MBR _____ g 7

A). 10-24

B). 70-180



C). 30-60

D). 220-600

Q 27. Open structured grinding wheels are recommended for
materials.\ ﬁ@[ ﬁ%%‘;ﬂg%ﬂ Eﬁﬂﬁ
gerd§ 8 gAY & wran o |

A). soft and ductile\ IXH TJ T

B). hard and brittle\ FHBIXT T\TGT ‘1-'[‘1?

C). ductile and tough\ d<d g 3g

D). hard and malleable\ ®3IR TF aTd LI

Q 28. In a lathe, when a workpiece is held between the centres, the

_________ is used to drive it.\ Y H, T gH YT e & ofid T UH ST g3
gidr g, d 3T Iar & fag &1 g fbar Srar g

A). catch plate)\ T W

B). chucks\ d&

C). face plates)\ Y We

D). jigs and fixtures\ S | [ECREES

A). CO,

B). Molybdenum Disulphide)\ AlfassaH aéﬂmgg
C). Wax\ oy

D). Soap\ HIg-d

Q 30. The ‘No GO’ plug gauge is the size of the
@I A T ATHR Il |

A). maximum limit of the hole\ EP[FT &I AfYHIH AT

B). minimum limit of the shaft\ RM¥C Bl YIdH e

C). minimum limit of the hole\ 81d & gAY AT

D). maximum limit of the shaft\ RMUC &t SffyHdH A

Q 31. If "80 R" is written on grinding wheel, it represents that it is
_______ in nature.\ af¢ fd W& &a & "o r* 1@ gan g, 3U@ S
fr a8 Leacikcakd

A). hard\ HIIT
B). soft\ ARk
C). ductile\ dJ
D). brittle\ YIYRT



Q 32. Balancing of wheels is done in order to___ A

B B BT SR I St B

A). maintain accuracy of shaft\ QMU B ﬁﬂ@{?ﬂ FIHIT IGH

B). change the shape of grinding wheels)\ Wg%"[ e?ra BT ATHI I

C). remove metal chips from surface of wheels\ EOFFT P qde I Oed fIu

BLIRGECRE

D). mount the wheel on machine)\ Eﬁﬂﬁ AT R %ra,ﬁ

Q33.___ is used for drilling a conical shape on both ends of a
&1 U Sld & arHl BIR0 U ADHIHIR fgd S g fhan

A). Centre drill\ I3 %’F’f

B). Counter bore drill\ BTITT &R Irtjﬂ

C). Oil hole drill\ 3Tad gid fgd

D). Spirek drill\ IR EEGH ﬁ:}’a

Q 34. Pneumatic drilling machine, used for maintenance of ship is
\ argarg fefdm Ay, sife q@ el &
&1 ganfad g g |

operated by ____
JEEE e UAT A WS ot R,
A). air pressure\ dIg ald

B). electric pressure\ ﬁqga ald

C). hands\ BT'lﬁ

D). motor)\ e

Q 35. Deep Hole drilling machines are widely used for making

\ ST gIa fea a=iT [raraR 14 & HIH 37

A). moulds and dies\ A ud ST_sc
B). railway lines)\ Idd NIES]

C). iron pillar\ ?ﬁg A

D). heavy machines\ It gt

Q 36. For cutting of titanium, is employed as a cutting fluid.\

&1 YA T o |

I3 H B Hers 8 Hels G & © U

A). concentrated soluble oil\ {-iaf?iad gmw&ﬂm ?TFT
B). dry kerosene oil\ Y[th ﬁf%of ad

C). emulsion\ HRA

D). mineral oil\ g ad



Q 37. Which of these lubricators is not gravity feed?\ _s':f?ef I ﬁ:fﬂT
AT e Te@rdy ¥ T8 addr g2

A). Grease gun\ UITT 719
B). Lieuvain's Glass Bottle\ AW ™Y Sidd
C). Drip feed\ %’t{ BIs

D). Wick\ [d®
Q3s8. is used as a semi-solid lubricant.\ ___ Gl
g -3 WEP & U H Ha1 91l 3|

A). Grease\ IS

B). Molybdenum Disulphide\ AIfISSTH SIS TTHIST

C). Tallac\ CU®

D). Blended Oil\ e dd

Q 39. Which of these frictions is the weakest?\ 5"|DI' T ST gV g9

god gidl §?

A). Rolling\ AfeiT

B). Fluid\ 41T

C). Sliding\ fhaA

D). Static\ R

Q 40. The bearings shown in the figure carries

g3 fygfen &1 989 B ]|

\ & fa o =it

A). both radial and axial loads)\ Ifsgd Td ety I3y E(Pf:ﬁ
B). no load\ [T HIR

C). only axial thrust\ FIT &g HIY

D). only radial load\ FId ST HIR

Q 41."G 02" code is used for_________ A\"GOo2"®IS
T fHar orar B

A). Circular Interpolation in clock-wise direction)\ cfgomad fewm o H??ﬁ
geUIARA

B). Linear interpolation\%@ﬁq gE?@f@[QTq

C). Rapid Traverse\ s @aﬁ



D). Circular Interpolation in counter clock-wise direction\ graTad fe=m |

IH A eI AN

Q 42. In leading zero suppression in CNC, the machine control reads the
numbers from___ \CNC & ST Sy U ﬁ, 7IfA awg‘ra
G sl Bl UG g

A). right to left\ &g ¥ €19
B). left to right\ §T¢ ¥ &
C). anywhere\ $€3fﬁ i

D). nowhere\ $§[ﬁ e

\'"Fdc-3fa" g

A). M08

B). M04

C). M03

D). M06

Q 44. "G 03" code is used for________ A\"GO3"®dIS
T fHar orar B

A). Circular Interpolation in counter clock-wise direction\ graTad fe=m |
IH I TeIqNAYA

B). Linear interpolation\%@ﬁq g_C’?tn@[QT:[

C). Circular Interpolation in clock-wise direction\ cfgomad fewm A H??ﬁ
ELUIKRE]

D). Rapid Traverse\ s Ea’ﬁ

Q 45. "G33" code isused for____ A\ "G33" aﬁg,
T fear S g

A). Thread cutting\ I8 HfeT

B). Skip cutting\ T widT

C). Dwell\ €ad

D). Exact stop)\ Q'@[EE wrg

Q 46. Which of the following is not a file extension used in AutoCAD?\
fafafed & 9 o sffet & & IUAMT fHar S+ aren BIsd TR gl 82

A). .dwe
B). .dwg
C). .dwt
D). .dws



Q 47. In CAM activity, what comes after assembly?\ Tt T UH fearsdag ff,
YT F gYTT AT IATAT B2

A). Packaging\ LAkl

B). Inspection)\ Q@GQT:T

C). Interfacing)\ ‘s"zf?ﬁ?ﬁ'm

D). Geometric model\ ﬁftﬁﬁﬁ?ﬁ ared

Q 48. When two gears mesh together, one with smaller number of teeth is

called A\ 99 & frgr tw gk § faad §, 9 59 ¥ &7 <fq g

_______ Hgard g
A). pinion\ fufge

B). wheel\ %T?T

C). rack\%$

D). cam\ G|

Q 49. Compound gear train is used to \ HUISS firaz E:f Al
T ?q far wnar B

A). obtain large velocity ratio\ 3= aT S{JUrd Urtd HIA

B). obtain low velocity ratio\ g 9 STUrd Urtd HIA

C). transmit power between inclined shafts\ %% Y MUt & A Qi
HIRT B

D). reduce the speed of driving shaft\ ST_Q'%TT MY ot T FH HIA

Q 50. Repetitive servicing and overhauling are a part of

maintenance.\ SR 9 AfARIT ¢4 offavgifein____ @@ & HIT § |
A). Preventive\ ar®

B). Accidental\ Ea%ﬂ%aa

C). Breakdown\ SHIIST

D). Predictive\ ufsfaca

Q 51. Vibration Analyser, Amplitude meters etc. are used

in maintenance./®U" [dRAYSD, snard HieT 3M1fd &1 IUAT

A). Predictive) ufgfaeg

B). Routine\ Ferd

C). Accidental\ qa%ﬁ@fea

D). Breakdown)\ SHSIIT

Q 52. is most important as per Oakland's concept of TQM.\

TaM & MHAS & AR & AR I AETY



A). customer\ Ulgh

B). supplier\ WYX

C). company\ HTt

D). employee)\ FHT

Q 53. The objective of TPM is Equipment whereas it is for

TQM.\ TPM &1 I IUSIT ¢ Safd TaM BT g

A). Quality\Jura<r

B). Quantity\ HIAT

C). Wastes\ hdX]

D). Service\ T4

Q 54. Inspection and Overhauling are the parts of _
maintenance.\ &0 Td AI™WT RGIWIT & HIT §|

A). Preventive) ar®

B). Routine\ afag

C). Predictive\ gt

D). Accidental\ E?ﬂﬁ%?f?f

Q 55. TPM stands for \ SriTH &1 Ty

A). Total Productive Maintenance\ ded Mefaca Aedy

B). Total Productive Management)\ ded efaea Aawde

C). Time Productive Management)\ CIgH nrsfaeg dedg

D). Time Production Maintenance\ CI9H MERT Ay
ARILCKEINEREL

A). Accuracy\ g&dl

B). Price\ U

C). Psycology\ U:ﬁﬁiﬂ"f
D). Technology\ GCRICH

Q 57. is used as a bearing metal for light loads and low

speed applications.\ 8vb HIX T A9 7fd yquaiT 3g gy urg & U &
__________ &1 gAqIT fBar a1 g
A). cast iron\ ¢ddl FﬁET

B). copper\ dIHdT



C). bronze\ Gkl
D). zinc\ oIl
Q 58. Camis a member in a mechanism.\ feddt ﬁ%ﬁ@:{f{ %I{

A). driver\ sT‘s‘a’?
B). driven\ %’é?{
C). frame\ H

D). output\33cYc

Q 59. The uppermost part of the thread is knownas _________ \ELL?‘;)[ Eal
98 SHudt fewm HEATd g |

A). Crest\ HE

B). Root\ ¥¢C

C). Flank\ b

D). Pitch\ fUd

Q 60. Coloumn of a shaper machine is made up of A YU AT
BIBIAA___ 1 g1 g3 gl 5|

A). cast iron\ eddl Fﬁ%

B). bronze\ EaEl

C). aluminium)\ QFﬂtﬁﬁqr{

D). high speed steel\ 3 IS

Q 61. The process of removing metal by a milling cutter, which is rotated
in the same direction as the feed of the workpiece is called ____ / fafer
HTR I UTg I gerd DI ufchar, S IHU & Big & gard fa=n & garan
TA ], 98 ____ Hoadl §|

A). Face milling / %y fufdn

B). Climb milling / daed fafei

C). Up milling / U fafdn

D). Conventional milling / Hagad fHfe

Q 62. The milling machine which is most suitable for versatility of works is

.../ ®1T & Igfagar & faw 99d Iuygea fAfdn afi=a g ...

A). Universal milling machine / qﬁaﬁa fafdT a=hi=

B). Fixed bed type milling machine / s 98 TR HfeiT ALiA
C). Omniversal milling machine / iafada fifert wefia

D). Plain milling machine/ i+ et ALA




Q 63. In plain milling machine, the table can be moved against a rotating

cutter mounted on arbor ..... / e fafdT asfig ff, TTd B TUdh ‘EJ\UT:T HTH
faed fagear s gear g, o _ U Y TR U A7 3N ||

A). Longitudinally / \}[ﬂ%?ﬁ

B). Vertically / dddd

C). Cross-wise / 3‘”%

D). Longitudinally, vertically, cross-wise / Grfﬂ%?lf , F'raa'a,&rré

Q 64. Solid milling cutters are manufactured from .............. / 3 frfer
HeR_______ ¥ AT gra §

A). H.S.S./Td.TYH.TY.

B). Stellite / AT

C). Ceramic / Rvfa®

D). Sintered carbide / fAarfed Wa‘fg_s'

Q 65. A face plate is normally used to hold the job on a lathe when the
job is ...... / /S UR UHh BIWT Bl AT 94 & UH S & AT ggqim
foar Srar 8, &I AgA g 8|

A). Regular shaped /ﬁqﬁ-{?‘[ HTDHIX DI

B). Irregular shaped / STfEa PR &1

C). Flat shaped / IHJA HTDHIX hI

D). Plain shaped / Hlal H[HIX DI

Q 66. A slotter can be considered to be a type of .......... / Uh TATeX B TUh
UPR BT ____ AT o 96 |

A). Horizontal planer / E?fﬁfﬁf @R

B). Vertical shaper / 9dd YU

C). Vertical planer / NEEGRNEE

D). Horizontal shaper / aﬁfﬁf YU

Q 67. In a lathe, chasing dial is used when doing .......................
operation. / WX H, AR SIaa@ &1 A m 3TGYYT B HId THY
RG]

A). Taper turning / eur efH

B). Drilling / ﬁff%m

C). Parting off / urfé sife

D). Thread cutting / I8 BT

Q 68. A lathe component which is used to give depth of cut - / Tdh WIq
3a99 fITHT IUAT HT ST TEAs &4 & ¢ fhar sran @ -



A). Top slide / 2rg ENIESS]

B). Cross slide / HIg ENIESS

C). Compound slide / PUTI S W3S
D). Tool post / ¢d LIRS

Q 69. The fastest method of cutting gears is by ............... / Mg H1ea &
99 a9 adan g

A). Gear shaping / gz Qftm

B). Gear turning / gy ef

C). Gear hobbing / Mg gifeT

D). Gear milling / firgx fafe

Q 70. In gang milling .......... /ﬁﬂﬁﬂ%‘mﬁ

A). A number of jobs are milled in one set up / Q$§[ T qY H $'S£ J®= H
g4t &1 mer (Ffa) s @

B). Two or more cutters are mounted on the arbor which cut metal
simultaneously / 38X U &I I 3(fd HeI B AMIAT Il § o TP & IHY
U 4Td &I HIed g

C). One job is completed on several milling machines located together /
UH A TSy a7t w3 AT a9 ux g foar sar @

D). A number of jobs are completed on different milling machines located
together / ®3 AYAl I THwY it 7 Afe a=f= ux g foar srar 8

Q 71. What is the function of half nut on lathe? / WXIq UX @It dC hl HI

H1d Bl 82

A). Lock the lathe carriage to the lead screw for thread cutting / ﬂ%@[ P
HTIS & AT WAE HRI B A€ T dF AHh Bl

B). Change the direction of movement of lathe carriage / WXIq Carc iy
SEIRE AR CRURCCAE]

C). Reduce spindle speed / fsd &I 7fd B HH HIAT

D). Set up the lathe for taper turning / euR T & AT 9T & YTHY
hHIAT

Q 72. The operation of removing clogs and blunt abrasives from a grinding
wheel is called ........ / TF UNU Ufgd ¥ Afad 3R & JUus¥d &I gerd Bt
forar-fafy HEA T

A). Glazing / wfei
B). Truing / ggﬂ



C). Dressing / t%ﬁm

D). Loading / g

Q 73. The main function of the cross rail in a planing machine is to carry
....... /TR A paYa s qE Hd _ ® A AR

A). Housing / ETG@TTI

B). Saddle / ¥

C). Dog / ST

D). Workpiece / LIRS

Q 74. When hard material is to be turned on a lathe using carbide tipped
tools, the type of rake provided should be ....... / d)IGITsS 37 Iford 31\I\)1I{
BT YT B Od TPH &7 uerd &) @g g AST S1dl 8, Ugd &I 13 IF Pl

A). Positive rake angle / uifsfea Y& Uy

B). Negative rake angle / anfeg ¥Iw und

C). Zero rake angle / S ¥ Ty

D). Side rake angle / 9IgS 3P Ui

Q 75. The size of abrasive grain required in a grinding wheel depends
upon the ....... / UNT Ufgd & SIIH JUGND HUN BT MNP _____ U3
anyTfead gran |

A). Diameter of the workpiece / gHUY HT AT

B). Hardness of the workpiece / IS U Pt ﬂﬁ@?‘ﬁ

C). Amount of material to be removed / gaﬁ SIERCI] traT?fﬁ HIAT

D). Desired finish /aﬂ%a fefa=

Q 76. The taper which is of self-holding type is - / dg ST W QW—@%W
THIR P gl g -

A). Morse taper / oY U

B). Jarno taper / 47 U

C). Brown and Sharpe taper / 9134 3R 1Y 2uR

D). Metric steep taper / Iﬂ@$ g eur

Q 77. Which of these expresses the size of a lathe? / 5"14:[ @ d‘?l'-l g7 W
& PR DI Ad HIAT g2

A). Horsepower and chuck diameter / S\I'{-Irqldi 3?[? dh Yl

B). Swing and distance between centers / & 38R FG & g DI §ﬁ
C). Bed length and spindle speed / IS CH-GII‘.{ 3R fRisa nfa

D). Tool post size and travel / ¢c T HIT 3M% édﬂ




Q 78. The live centre in a lathe moves along the ............ / AT e orgd
T & WY TAd 2|

A). Carriage / HRT

B). Tailstock / TAWID

C). Headstock / %3E'T$

D). Cross slide / HIg ENIESS

Q 79. What should be the suitable abrasive if grinding of glass is to be

done? / Af¢ &g &I UWE - 81 A1 IUYS UUNS 1 g1 ATRTY?

A). Emery / t{r{ﬂ

B). Diamond / ?DTT[

C). Quartz / W?.f\_r[

D). Silicon carbide / RIfi®IT F1aigS

Q 80. The lower critical temperature of high carbon steel while hardening
is..... /doo\IQUI%C?IQI"I 3 HIaA LUWId bl A UdH Hifd® dILH-II"I% ......

A). 560 degree C / 560 Sl C
B). 723 degree C / 723 T8t ¢
C). 900 degree C / 900 TSt ¢
D). 960 degree C / 960 T8t ¢
Q 81. "Cyaniding" and "Nitriding" are two methods of ................ /

grggfET o rArgersfE e ¥ 3 T89F €|
A). Tempering / cufT

B). Normalising / QI B

C). Hardening / FHBIRT

D). Case hardening / G5& & aIRUl

Q 82. For hardening of H.S.S. Tools, the quenching media used is ......... /
UY.TY.TY. SUSHIUT & SR & Y, YA far o1+ aren 07 T §

A). Oil / dd

B). Water / ar=t

C). Soda water / QST arex

D). Brine solution / §ITg- AR

Q 83. The main purpose of normalising steel isto .............. / T @l
JIATY B H G Ie gar gl

A). Remove induced stresses / ufva a1g BCldl



B). Improve machinability / ARAATH 0 YUl

C). Soften the steel / T ® T939 BT

D). Increase toughness and reduce brittleness / €edl delHl 3 ﬁﬂ??ﬂ Yy
HIHAT

Q 84. Which heat treatment process will be used to improve internal
structure of steel, which has been subjected to severe hammering? / wrd
@ SHTART IXT BT IgaAR I & AT DI A S IR Ufeba1 &1
U farar su, S ifd SH U & rehta X7 72

A). Tempering / TR

B). Hardening / HOIR

C). Normalising / AT H ]

D). Annealing / Q:ﬁﬁm

Q 85. Rust is formed from iron and ................ / F‘I}f% My T S
Fffa g1 7|

A). Sulphur / b

B). Nitrogen /:|T3_§.\Pf\_rf:f

C). Oxygen / KIESISE]

D). Hydrogen / BTE'@\_SH

Q 86. Crane hooks are made from ................. / HTH e ___ |
ffifa 813 §)

A). Cast iron /‘cra?ﬁ FﬁET

B). Wrought iron /ﬁf?ﬁ ?ﬁBT

C). Cast steel / DI wrd

D). High carbon steel / 3T PHId- W

Q 87. Aluminium in its pure form is not used in engineering work because
...... / T G ¥9 § tgHFam &1 SSfAaRe sraf § gai 98 fear s
Hifd ......

A). It is costly / U® HEM E?IHT %

B). It is brittle / I8 Y &l §

C). It lacks strength / 398 AN &H gl §

D). It is very light / T8 §gd 8l gidl &

Q 88. Which among the following is best suitable for location of a round
shaped job?/ FTffad @ 4 &1 Tt MA MHR & 99 &1 Haf¥Yfd & faw
T8 IUYA 82

A). Pin type locator / fuq HER dArbex



B). Wedge type locator / ol HER Aher
C). Vee locator / & AdHeT
D). Adjustable stop locator / S I wIY dAdbe

Q 89. Milling cutters are generally manufactured from two materials

which are .../ ffdiT eI smAaR R Gl ugiuf A Affga fFa Sa g s g ...

A). Cast iron and plastic / gdadr ?‘I.TET AR wife®

B). High speed steel and carbides / 3= fa Id \3‘?[? ?ﬂa’fs'g
C). Mild steel and stainless steel / Hg S¥Id 3‘?[? St drd
D). Carbon steel and nickel steel / HT99 a3 A

Q 90. Direct indexing plate usually has three circles of holes with ........... /
SToREe 3SR we § sMHdR U’ & Y 1 ¥G BId |

A). 5, 10, 15 holes respectively / $hHX[: 5, 10, 15 B

B). 10, 20, 30 holes respectively / $6HTR: 10, 20, 30 BT

C). 24, 30, 36 holes respectively / HRI: 24, 30, 36 B

D). 20, 40, 60 holes respectively / HX: 20, 40, 60 B

Q 91. Slideways of a machine are frequently lubricated by ............. / THh
AMT & WIsSd AfTHaR g e 53 o1d €

A). Oilcan / ad Dt ?‘Iﬁ

B). Grease gun / PICRIGH

C). Ring lubricator / R @%%E?

D). Wick feed lubricator / fd® wig ﬁ@%??

Q 92. The general ratio of soluble oil and water used as coolantis ......... /

fda® & ®U H IUAT BT o7 ard gaafd aa iR ur &1 =g fgura
______ gl 8l

A). 10:01

B). 1:10

C). 1:20

D). 20:01

Q 93. The head of a planer can be swiveled on either side at an angle of

......... / AR & WY @ & PV U QI IXB GHTAT S GHdl § |

A). 15 degrees / 15 fsht
B). 30 degrees / 30 fsht
C). 45 degrees / 45 fsht
D). 60 degrees / 60 fsht



Q 94. The work holding device used on planer for cutting grooves on a
cylindrical job, is ..../ Th dAAIHIR 9G4 UR Wid B & AT @A UR U
HI o4 arclt 9o BT fgarsa @ ...

A). Angle plate / UTd e

B). Strap clamp / QAU FAT

C). Planer centre / @R gex

D). Planing jack / T 9®

Q 95. The crank pin of a shaper is set closer to the centre of the bull gear.
What is its effect on the movement of the ram? / Tdh YU & hh T B
d IO & &% & O19 QAT ATl | X9 & Jaqra- U 39T o YT gIae

A). The movement of the ram will become larger /Y| &1 Garad dgq Bl
ST

B). The movement of the ram will become shorter /3'5[ CIRIEIGEG]
DI B ST

C). There will be no effect on the movement of the ram /%If & IIraT g
HIs UUTT 8 ST

D). The movement of the ram will become zero / /3'1:[ IR EINE] PIG Epf
ST

Q 96. On a shaper, parallel surfaces of a workpiece are to be machined.
What holding device will you use? / Ud YU gy, IS B AT H?‘[E}f
R S fHar A1 §| 31U DI SR fEAsT &1 gai s

A). Parallel blocks / ﬁifaa AT

B). Round blocks / A3S sy

C). V' block / 'V' SAl®

D). Angle plate / UTTd e

Q 97. What is the purpose to maintain an approach distance between the
cutting tool and the work while working on a shaping machine? / QftT
AT IR FH1d HIA §U HIET A 3R a% & g TWF f$TT I3 3@
3T AT gIdT 87

A). To cool the cutting edge of the tool bit / ¢d f9c & 0hCIS: R &I 33T
HRAT

B). To avoid any ridge at the end of the workpiece / IHUtT & Y uv fed
IHR 8§

C). To allow the chips to fall and clear the cutting edge / ﬁrtcrg CIRUEE
¢ 3R FHTT8 [HAR B AH HIAT




D). To enable the clapper box to return to the cutting position /H%UT
Sieg & dels T & e & gam g1

Q 98. In some special slotters, the ram may be set about ................ from
the vertical plane. / 9 faQy wWiex ﬁ, gcfpd W @3'5[
qHd g

A). 10 degrees / 10 st

B). 15 degrees / 15 fsit

C). 20 degrees / 20 fsit

D). 30 degress / 30 st

Q 99. What is the function of slotter disc mechanism in a slotter? / TWiiex
# wWiiex fs® BB &1 1 &1 il g2

A). Setting the tool to cut / NSRBI BT & %Q AT

B). Making a wide cut / TSl &T FAT

C). Quick return mechanism /@$ Red apfasy

D). Rotary motion of the table / T BI At i

Q 100. The base of the circular table of a slotter is graduated ..... / Th
e Pt gIATg A BT MR 7 ffed grar 7

A). 0 to 45 degrees / O T 45 fsiht

B). 0 to 90 degrees / O T 90 f&iht

C). 0 to 180 degrees / 0 ¥ 180 st

D). 0 to 360 degrees / 0 ¥ 360 f&W

Q 101. What should not be used in case of electric fire? / faeeht &t T &
A | R U A8l fBar S =g

A). Putting water on fire / 3T UX it ST

B). Using sand or clay /%H g1 ﬁfsof CAR*EIR]

C). Using C.T.C. extinguisher / C.T.C. TUMHS & YT

D). Using dry chemical powder / YW HA$HH WIS &1 YT

Q 102. Taps are re-sharpened by grinding ........... / tuwm G|
s 3% BT ¥ A far ordn g

A). Threads / q\%@f

B). Flutes / UgC

C). Relief / Reiw

D). Diameter / &Y

Q 103. Which cutting fluid is most commonly used in machining
operations? / AT foXwa & a1 7 vz fwaz ga fvan




CIGIGE

A). Lard oil / 991 dd

B). Soluble oil / GA-RNT dd

C). Compressed air / TJaifsd arg

D). Water / qr=T

Q 104. The body of a flat chisel is usually made in the shape of ..............
Jure I BT G-I W1 MHAAR AT F MBI H g1 8T |

A). Rectangle / 3Tdd

B). Square / g

C). Hexagon /WE:EIOATUT

D). Octagon / G[E’ﬁUT

Q 105. Which unit of lathe houses the lathe spindle and control lever for
speed selection? / WXIq Pt BT Ao ij\lr'\-lc nfa g & ]%’[Q YRMq DpT YT 3R
fraFor v 7@t 82

A). Headstock / %3@/55

B). Tailstock / AW D

C). Feedstock / HISElh

D). Apron / TUH

Q 106. The point angle of a standard twist drill is ............ / Uh @Ugé
ffrefgammfdg®mo Tl |

A). 60 degrees / 60 St

B). 108 degrees / 108 s
C). 118 degrees / 118 TsUt
D). 135 degrees / 135 fsit
Q 107. Which part of a shaper supports its table? / YU BT HITIT HIT
Ot CIA BT I <l 82

A). Base / a9

B). Ram /3'5[

C). Saddle / Jgd

D). Clapper box / FAUR g

Q 108. In comparison of HSS cutting tools, cemented carbide tools can be

used at / HSS HBIET T Pt g | , WHCE HIaiIgs ¢ U

O B o 9Fd T |

A). 3 - 4 times greater cutting speed / 3 - 4 [l 3P e ot T



B). 5 - 8 times greater cutting speed / 5 - 8 [l 3P B ot T

C). 8 - 10 times greater cutting speed / 8 - 10 [Tl 3fYPH HIeq ot i

D). 10 - 15 times greater cutting speed / 10 - 15 T[Tl 3P HIeq ot i

Q 109. Which of the following is not true with reference to negative rake
angle of a lathe cutting tool? / WXIq FHiET cd P Anfea Y HIor & g A
frafafea & 9 o= o 98 98 g2

A). It makes the tool blunt / I8 SNSIR I HIUJ FATAT §

B). It increases the strength of the tool / g% 3SR Bt I[W@?ﬂ deldl %

C). It causes higher temperature of the tool / % SNSR & I dATTHTT BT
B g1 8

D). It reduces friction / g gy HH DIl %

Q 110. While thread cutting on a lathe, what should be done with the
threading tool, when it reaches the end of the thread? / W g UX T’J\%q}f
I & S04, AT ¢a I9 g & ofd aF ugY @ A fbar S Anfeue

A). Leave in the groove and reverse the workpiece/ T id o @3[3 é 3?[?
JHRT H IAT

B). Withdraw it after stopping the machine / AT I AHA & d1g I
fra o

C). Withdraw it while the tool is taking cut / 9§ 3N I el Epf @3
fore o

D). Withdraw after removing the workpiece / IHUY P _G'ETef & 9T 39
fere o

Q 111. What are hand chasers used for? / %3 %[GR P YA By ﬁflf fear
ST §7

A). For quick production of threads / E‘L%ﬁf & gl fAafor & ﬁfm

B). For cutting threads on soft metals / -IXH YId UX ELL%HT CAGER: ﬁ'ﬂl
C). For rectifying threads cut on steel rods which are distorted /ﬁﬂ AT
U &l g3 IS Bl 3P &I & e o & fapa €

D). For rectifying crest and root of threads formed by single point tool /
Rf7d uige ¢d ¥ 97t gfeal & RER iR 98 &t 3 37 & [

Q 112. Lathe cutting tools made of .................. can be forged to any

q g9 @WUE ST gd DI fodt of qifed sner 4

desired shape. /

B {51 o GHdl |

A). High speed steel / 3™ fa HId
B). High carbon steel / 3T BIdT ST




C). Stellite / AT

D). Tungsten carbide / RIESE Ghldlr'is

Q 113. A short reamer with an axial hole used with an arbor or mandrel is
called ....... / U TR a1 S & Y IUAT fbT o7 aTad 3refia &€ gad
e Ju HI HET Sl § |

A). Parallel reamer / AT JAR

B). Adjustable reamer / ST RIESES

C). Expansion reamer / QW&QT:[ a3

D). Chucking reamer / EICRIRIEE

Q 114. Which of the following is not a cause for glazing of a grinding

wheel? / T% UNU UfRd &) W@fST &1 Fufafad & 9 o sro a8 g2

A). Improper dressing of the wheel / Ufgd &1 STJUYdd @;ﬁm

B). Use of dirty coolant / ﬁé’ MIAD BT ST

C). Use of hard wheel in place of soft wheel / AXH q%ﬁ 3| B 9¥d 1?{1%2?[
H1 I

D). Feed rate used is too fine / UG I TG BIS a3 dgd J-IESﬂH %

Q 115. How is zero error of 50 - 75 mm outside micrometer checked? / 50

- 75 fidt. anITHIZTS AISHIFHICI F Wi TR B HY SN ordl 82

A). By using dial test indicator / STId T g%%?ﬂ & U g

B). By using vernier height gauge / gfHaR HEE S & gaT g

C). By using test pieces / T Y &1 YA HIPh

D). By using feeler gauge / BIdR TS &1 YT HIDh

Q 116. For general purpose use, a bench vice is fixed at a height of
.......... / THIG YOS & IUAT & fqQ, Th 99 9139 B SHATs
UR AT STl g |

A). 80 cm / 80 JHI.

B). 92 cm / 92 YHI.

C). 106 cm / 106 YHI.

D). 125 cm / 125 9.

Q 117. The vice used for holding heavier and rougher types of work is
........ / {1 3R URHT UHIR & I Bl g B4 & ¢ uaiT foar w3
CI G| S

A). Leg vice / AT CIERSI
B). Tool Maker's Vice / ¢d AP CIERS



C). Pin Vice / fU9 9139
D). Hand Vice / 8€ a1

Q 118. The material not used for manufacture of surface plate is ............ /

gds we & Fafo & ore Iuhin 9 & o1 are IrHW e

A). Cast iron /‘cra?ﬁ ﬁBT

B). Mild steel / {g S¥Id

C). Granite / ‘3[:|T"'Q'E

D). Ceramic / fRfu®

Q 119. What is used to draw arcs and circles of greater radius during

marking and layout of jobs? / THA &1 & 3R AT TR HId AT T3
s &t a1y ofx g1 WiaA & faT feae ua foear onar g2

A). Divider / HISTh

B). Hermaphrodite caliper / SHTLP\ISISC 3r>|'31u<

C). Trammel /EITFT (SITeT)

D). Compass / UXPIX

Q 120. The main alloying element in high speed steel is .................. / 3

7y ©a W g1 Ay e da ® -

A). Tungsten / €&

B). Chromium / HIfgay

C). Vanadium /aér%?m

D). Nickel / @@

Q 121. How is the cutting speed in a shaper expressed? / YU H HIeA ot

T S Fad Bt AIdl g2

A). Number of strokes per minute / ufd f9e smaral & 9=

B). Metre per minute / e gfa fqe

C). Number of revolutions per minute / ufad f9e 9w o) G-

D). Millimetre per minute / fetdter ufa faae

Q 122. The type of thread in most fasteners is ................ / FfYH AT
HrEeaR ¥ If3dl &1 yHR GG

A). V thread / V i@ﬁ

B). Square thread / IO Ej\ébr

C). Acme thread / QEFef ELL@:[

D). Knuckle thread / 9 d ﬁ[@sf

Q 123. The accuracy of slip gauges is checked by using .................. / g
IS &t b dr Bl &1 YT HIP S ofdl g |




A). Dial gauge / STUd S|

B). Sine bar / IIg- dI}

C). Optical flat / &rﬁ@?ﬁa T

D). Snap gauge / LRI

Q 124. After 'hardening' heat treatment process, a steel workpiece will
not only become hard but also ............ / "BV FH IUAR Yfba1 &
e, U6 ©d aHUry 71 8 ad g% dfch ff 81 STA |

A). Ductile / gy

B). Malleable / 3TaTAay=ia

C). Tough / HBIT

D). Brittle / 'J-T‘I?

Q 125. A pyrometer is used to measure .................. / Th g HEI BT
U A9 & fae fear s g

A). Specific gravity of electrolyte in a battery / Td sed A 3@[3@@33 &
fafry 7ea &1

B). Electrical resistance / ﬁaﬁ?ﬁq ufady &t

C). Temperature in a furnace / Tdh ‘H@ & U B

D). Atmospheric pressure / dIg-ald Ca



Level 2 Answer Key

Question No. |Option § Question No. |[Option|Question No. |[Option|Question No. |[Option
1 A 41 81 D 121 B
2 42 A 82 A 122 A
3 A 43 A 83 A 123 C
4 A 44 A 84 C 124 D
5 A 45 A 85 C 125 C
6 A 46 A 86 B
7 A 47 A 87 C
8 A 48 A 88 C
9 A 49 A 89 B
10 A 50 A 90 C
11 A 51 A 91 A
12 A 52 A 92 C
13 A 53 A 93 D
14 A 54 A 94 C
15 A 55 A 95 B
16 A 56 A 96 A
17 A 57 A 97 D
18 A 58 A 98 A
19 A 59 A 99 C
20 A 60 A 100 D
21 A 61 B 101 A
22 A 62 C 102 B
23 A 63 D 103 B
24 A 64 A 104 D
25 A 65 B 105 A
26 A 66 B 106 C
27 A 67 D 107 C
28 A 68 B 108 A
29 A 69 C 109 D
30 A 70 B 110 C
31 A 71 A 111 C
32 A 72 C 112 B
33 A 73 B 113 D
34 A 74 B 114 A
35 A 75 B 115 C
36 A 76 A 116 C
37 A 77 B 117 A
38 A 78 C 118 B
39 A 79 B 119 C
40 A 80 B 120 A




